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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1a 17487 1.4 0.8 2 71.6 99.5

1b 16551 0.7 0.4 1 73 94.2

1c 17087 0.8 0.4 1 76.7 97.2

2 17109 1.7 1.1 3 56.9 97.3

3 16685 2.5 1.6 4 63.4 94.9

4 16915 1.9 1.2 3 62.5 96.3

5a 15524 1.2 0.9 2 59.3 88.3

5b 13686 1.1 0.9 2 55.1 77.9

6a 16908 1.6 0.8 2 78 96.2

6b 16266 0.3 0.4 1 28.1 92.6

7a 16755 1.2 0.8 2 62 95.3

7b 15366 1.4 1.4 3 46.4 87.4

8 16772 3 2 6 50.6 95.4

9 16083 1.4 1.2 3 47.3 91.5

10 16068 1.4 1.4 4 34.3 91.4

11a 16439 1 0.8 2 50.8 93.5

11b 15847 1.1 0.7 2 57.5 90.2

11c 11890 0.1 0.3 1 14.2 67.7

12 16236 1.1 1.5 6 18.1 92.4

13 17038 0.4 0.7 2 21.5 97

14a 16799 1.6 1.3 4 39.5 95.6

14b 14648 0.6 0.8 2 28.9 83.3

15a 15550 0.1 0.5 2 6.8 88.5

15b 15368 0.1 0.3 2 3.1 87.5

16 13959 0.7 1.3 4 17 79.4

17a 17223 0 0.1 1 2 98

17b 17176 0.1 0.2 1 5.5 97.7

18 15233 0.6 0.7 2 31.6 86.7
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WJEC GCSE MATHEMATICS 
 


SUMMER 2022 MARKING SCHEME 
 
 


Unit 1: Intermediate Tier Mark Comments 
1. (a)          72 B2 B1 for an appropriate sight of 9 or 8. 


 


1. (b)                 –31 B1  
 


1. (c)                        42             ISW B1 Allow 42·0 
 


2.         Showing      30%       (31%),     and    32% 
           OR               30/100  ,  31/100   and    32/100 
           OR                (0·3),     0·31         and   0·32  
           OR  three correct calculations for a common  
                  amount. 
 
 
 
 
                      0·3      31%,     8/25  in order 
 


B2 
 
 
 
 
 
 
 
 


B1 
 
 


B2 for all correct %,  OR  
all correct fractions with a common denominator, 
OR all correct decimals,  
OR correct work using a common amount, 
OR a valid combination that allows full comparison.  
 
B1 for one correct conversion or two correct 
calculations for a common amount. 
 
Allow any unambiguous indication (e.g. ‘converted’ 
values.) 
Strict FT of ‘their work’ if at least B1 gained. 
Correct answer, with no other marks awarded, gains 
final B1 only. 
 


3.    
                                     360  – 90 – 220 or equivalent 
                                               
 
 
  


                                                                      = 50() 
 


                 (x = )    (180 - 50)  2 or equivalent  
                                                


                                                                      = 65()   


 
M1 


 
 
 
 


A1 
 


M1 
 


A1 


Answer line takes precedence. 
Note: 360 – 310 or 270 – 220 or 140 – 90. 
Award M1 for complete method or intention of 
complete method provided not contradicted 
e.g. brackets missing 360 - 90 + 220.  
 
May be seen in later working. 
May be seen in stages. 


FT (180 – ‘their 50’)  2  
 


3.   Alternative method 
 
(Exterior angle = sum of the two opposite interior 


angles =)                                    220 – 90(=)  130() 
 


                                     (x = )  130  2 or equivalent  


                                                                        = 65() 


 
 
 


B1 
 


M2 
A1 


Answer line takes precedence. 
 
 
 
 


FT (their ‘220 – 90’)  2 












Sticky Note

This candidate has used a correct method to find the vertex angle (50°) M1A1. 
Although the candidate understands that the base angles in an isosceles triangle are equal, they have not used the fact that the sum of the internal angles in a triangle is 180°. M0A0 



Sticky Note

Marks awarded: M1A1 M0A0 












Sticky Note

This alternative method was occasionally seen. 
The exterior angle is equal to sum of the two opposite interior angles (220° – 90° = 130°). M1A1 
Unfortunately, an error is made when finding the size of one of the base angles (130° ÷ 2 = 85°) M1 A0 



Sticky Note

Marks awarded: M1A1 M1A0 












Sticky Note

Here, a correct method and correct answer is seen M1A1 M1A1. 
Correct mathematical notation is not penalised here, but candidates should be encouraged to use mathematical form correctly. If the W element from OCW was being assessed here, it would be lost for incorrect use of ‘=’ on the first line. 



Sticky Note

Marks awarded: M1A1 M1A1 
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3.


	 Calculate the size of angle x.
	 You must show all your working. 	 [4]


	


	


	


	


	


	


x = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . °


x


220°


Diagram not
drawn to scale
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7. (a)          4y = 18 
          y = 4½ or 18/4 or 9/2 or 4·5                      


B1 
B1 


 
Mark final answer. 
FT from 4y = k. 
If FT leads to a whole number answer, it must be 
shown as a whole number. Otherwise accept a 
fraction.  
Award B1B1 for a final answer of 4r2 only if a correct 
answer is seen. 
Award B1B0 for unsupported 4r2.  
Allow B1B1 for a correct embedded answer BUT only 


B1B0 if contradicted by y  4½. 
 


7. (b)        


        8x + 3x = 17 + 38    OR    –17 – 38  =  –8x – 3x 


               11x = 55            OR             –55 = –11x 


                                         x = 5                   


 
B1 
B1 
B1 


FT until 2nd error. 
 
 
Mark final answer. 
If FT leads to a whole number answer, it must be 
shown as a whole number. Otherwise, accept a 
fraction. 
Allow B1B1B1 for a correct embedded answer BUT 


only B1B1B0 if contradicted by x  5 


 


8. 
(Area of rectangle)      48 = 8 × x 
                          (width of rectangle, x = 48/8 =)  6 (m) 
 


(Area of trapezium =)   (5 + 9) × (6  2)  or equivalent 
                                                2 
 
 
                                                         =  84 (m2) 


 
M1 
A1 


 
M1 


 
 
 


A1 


Lengths may be shown on the diagrams. 
 
Allow an embedded 6 e.g. 8 × 6 = 48 for M1A1. 
 
Sight of 12(m) implies the previous M1A1. 


FT ‘their stated x’  2. 
Allow M1 for correct intent seen. e.g. 5 + 9 × 12 ÷ 2 
 
 
 


Organisation and Communication. 
 
 
 
 
 
 


 
 
Accuracy of writing. 
 
 


OC1 
 
 
 
 
 
 
 


 
W1 


 


For OC1, candidates will be expected to: 


• present their response in a structured way 


• explain to the reader what they are doing at 
each step of their response 


• lay out their explanation and working in a way 
that is clear and logical 


• write a conclusion that draws together their 
results and explains what their answer means 


 
For W1, candidates will be expected to: 


• show all their working 


• make few, if any, errors in spelling, 
punctuation and grammar 


• use correct mathematical form in their 
working 


• use appropriate terminology, units, etc    
                               


  












Sticky Note

It is not obvious how the candidate has found x = 5, however, as it is a correct answer, full marks are awarded. 
As no method is shown (only a check), if the candidate had used any other value for x, no marks would be awarded. Candidates should be encouraged to show their method. 



Sticky Note

Marks awarded: B1B1B1 












Sticky Note

Follow through marks are available in this question, however, no further marks are awarded once a second error has been made. 
In this example, the candidate has added 8x and 3x instead of subtracting, so B0. 
All subsequent workings are correct; therefore we can award a further B1 B1 for their correct answer of x = 11. 



Sticky Note

Marks awarded: B0B1B1 












Sticky Note

This candidate has an incorrect first line, so B0. 
As they have made two errors by stating 5x = –21, no further marks are awarded on follow through. B0B0. 



Sticky Note

 Marks awarded: B0B0B0 
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7.	


	


	 (b)		  [3]


	


	


	


	


	


	


	


	


8x − 38 = 17− 3x





















jonesj

Sticky Note

Unmarked set by jonesj
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7. (a)          4y = 18 
          y = 4½ or 18/4 or 9/2 or 4·5                      


B1 
B1 


 
Mark final answer. 
FT from 4y = k. 
If FT leads to a whole number answer, it must be 
shown as a whole number. Otherwise accept a 
fraction.  
Award B1B1 for a final answer of 4r2 only if a correct 
answer is seen. 
Award B1B0 for unsupported 4r2.  
Allow B1B1 for a correct embedded answer BUT only 


B1B0 if contradicted by y  4½. 
 


7. (b)        


        8x + 3x = 17 + 38    OR    –17 – 38  =  –8x – 3x 


               11x = 55            OR             –55 = –11x 


                                         x = 5                   


 
B1 
B1 
B1 


FT until 2nd error. 
 
 
Mark final answer. 
If FT leads to a whole number answer, it must be 
shown as a whole number. Otherwise, accept a 
fraction. 
Allow B1B1B1 for a correct embedded answer BUT 


only B1B1B0 if contradicted by x  5 


 


8. 
(Area of rectangle)      48 = 8 × x 
                          (width of rectangle, x = 48/8 =)  6 (m) 
 


(Area of trapezium =)   (5 + 9) × (6  2)  or equivalent 
                                                2 
 
 
                                                         =  84 (m2) 


 
M1 
A1 


 
M1 


 
 
 


A1 


Lengths may be shown on the diagrams. 
 
Allow an embedded 6 e.g. 8 × 6 = 48 for M1A1. 
 
Sight of 12(m) implies the previous M1A1. 


FT ‘their stated x’  2. 
Allow M1 for correct intent seen. e.g. 5 + 9 × 12 ÷ 2 
 
 
 


Organisation and Communication. 
 
 
 
 
 
 


 
 
Accuracy of writing. 
 
 


OC1 
 
 
 
 
 
 
 


 
W1 


 


For OC1, candidates will be expected to: 


• present their response in a structured way 


• explain to the reader what they are doing at 
each step of their response 


• lay out their explanation and working in a way 
that is clear and logical 


• write a conclusion that draws together their 
results and explains what their answer means 


 
For W1, candidates will be expected to: 


• show all their working 


• make few, if any, errors in spelling, 
punctuation and grammar 


• use correct mathematical form in their 
working 


• use appropriate terminology, units, etc    
                               


  












Sticky Note

Marks awarded: M1A1 M1A1 OCW0 



Sticky Note

This candidate has correctly calculated the area of the trapezium and is awarded the full 4 marks. 
The candidate has not presented the response in a structured way and there are no labels to explain each step. The candidate is award OC0. 



Sticky Note

Although the correct units are given, the is incorrect mathematical form. The “=” has been used incorrectly (5 + 9 = 14 ÷ 2 = 7 × 12). W0 is awarded. 












Sticky Note

This candidate has successfully found the width of the rectangle, x = 6. M1A1 
To be awarded the second method mark, the candidate needed to have used the height of the trapezium, in this case 12m. 



Sticky Note

Correct units are given and there is correct mathematical form, including the use of brackets. W1 is awarded. 

Marks awarded: M1A1 M0A0 OCW2 



Sticky Note

A follow through mark was available to those that did not find the correct value of x, but then used ‘their 2x’ when finding the area of the trapezium. 
The candidate has presented the response in a structured way and there are labels explaining each step. The candidate is award OC1. 



jonesj

Sticky Note

Unmarked set by jonesj












Sticky Note

This candidate has successfully found the width of the rectangle, x = 6, and the height of the trapezium, 12m. M1A1 is awarded. 
Unfortunately, although the candidate has used a correct method to find the area of the trapezium, and error has been made when halving 168. M1A0 is awarded. 



Sticky Note

Correct units are given and there is correct mathematical form, including the use of brackets. W1 is awarded. 

Marks awarded: M1A1 M1A0 OCW2 





Sticky Note

The candidate has presented the response in a structured way and there are labels explaining each step. The candidate is award OC1. 
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8.	 In this question, you will be assessed on the quality of your organisation, communication and 
accuracy in writing.


	 A rectangle and a trapezium are shown below.


	 The area of the rectangle = 48 m2.
	 The width of the rectangle is represented by x.
	 The height of the trapezium is twice the width of the rectangle.


	 Calculate the area of the trapezium. 
	 You must show all your working.	 [4 + 2 OCW] 


	


	


	


	


	


	


	


	


	


	


	


8 m


5 m


9 m


x


 2x


Diagrams not
drawn to scale
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7.	 In this question, you will be assessed on the quality of your organisation and communication.


	 Two rectangles are shown in the diagram below.


4 cm 20 cm


2 cm


6 cm


Diagram not drawn to scale


	 How many small rectangles will fit exactly into the large rectangle?
	 The small rectangles must not overlap and there must be no space left.
	 You must show all your working.	 [3 + 1 OC]
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16.	 Solve the following simultaneous equations using an algebraic (not graphical) method. 
	 You must show all your working.	 [4]
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2x + 3y = 29
5x − 4y = −8












Sticky Note

This was a useful method but, unfortunately, the correct answer was added to a number in the working. B0






























Sticky Note

This candidate has successfully generated two correct equations with equal coefficients for the terms in yy and has added to eliminate one variable. However, like many candidates, they have had difficulty working with large numbers such as 92 ÷ 23. M1 A0 is awarded for this first step. 
As the candidate has correctly found the second variable by substituting, they are awarded M1A1. This is only possible because the first method mark, M1, has been awarded. 



Sticky Note

Marks awarded: M1A0 M1A1 





















Sticky Note

The first method mark is awarded for a method to eliminate one variable. For those that decide to work with equations with equal coefficients in the x or y terms, they then had to show an appropriate intention to add (if equal y coefficients) or subtract (if equal x coefficients) to be awarded the first M1. 



Sticky Note

In this example, the candidate has successfully equated the x coefficients, but then has proceeded to subtract instead of adding. M0 is awarded. 
No further marks are available as the m1 is dependent on the M1 being awarded. 



Sticky Note

Marks awarded: M0A0 M0A0 





















Sticky Note

In this example, the candidate has successfully equated the x coefficients. The sight of 161 shows evidence of subtracting (even though the 7y is incorrect), so M1 A0 is awarded for this first step. The candidate has correctly found the second variable by substituting their value for y, so they are awarded M1A1. This is only possible because the first method mark, M1, has been awarded. 



Sticky Note

Marks awarded: M1A0 M1A1 





















Sticky Note

The bars are not all the same width so the third B mark cannot be awarded despite them being the correct height.












OER Q7 












OER Q7 



Sticky Note

A very common error was to work out correctly that  5 rectangles would fit across the top and three down the side but then add 5 and 3 instead of multiplying them. 
For the OC mark, the numbers 5 and 3 had to be labelled across and down appropriately. These labels are missing from this example. B1 M0 A0 OC0





















Sticky Note

This method uses the areas of the two rectangles. The numerical method and answer are correct. However, the word 'area' was essential to be awarded the OC mark. It is missing here. B1 M1 A1 OC0





















Sticky Note

Correct calculation but no labelling of 'across' and 'down'. B1 M1 A1 OC0





















Sticky Note

This correct answer is awarded full marks. B1 M1 A1 OC1
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5(a) 481·63 B1 
 


Do not accept 481·630 


5(b) 64 B1 
 


 


5(c) 7 B1 
 


Do not accept 7x7 or 7x7=49 alone. 


5(d) (0)·03825 B1 
 


 


Ribbon mark 6(a),(b),(c),(d) 
6(a) Football 
 


 
B1 


 


Ribbon mark 6(a),(b),(c),(d) 
6(b) 1/4 or equivalent   ISW 
 


 
B1 


 
Do not accept incorrect notation; e.g. 1 in 4,1 out of 4, 
1:4. 
 


Ribbon mark 6(a),(b),(c),(d) 
6(c) 1/4 × 60 
                     15 
 


 
M1 


  A1 


 
 
Accept 15 out of 60. 
Award SC1 only, for a final answer of 15/60 
 


Ribbon mark 6(a),(b),(c),(d) 
6(d) Correctly labelled axes. 
 
 
Uniform scale starting from zero. 
Correct equal width bars for football, swimming and 
tennis. 
 


 
B1 


 
 


B1 
B1 


 
Vertical axis labelled 'number (of people)' or ‘people’ 
or ‘frequency’ AND horizontal axis marked with the 
sports. 
 
Correct heights for ‘their scale’ (30 and 15) 
FT their (c) if possible: 
‘their swimming’ = ‘their tennis’ AND   
either ‘their football’ = 2 x ‘their tennis’ or ‘their 
football’ = 60 – 2 x ‘their tennis’. 
If no scale visible, allow final B1 for bars drawn in 
correct proportions. 
 


7.(Number across  = 20÷4=) 5 
OR ( Number down = 6÷2 =) 3 
(Total number of small rectangles =)  5 × 3 
                                                15          
 


 
B1 
M1 
A1 


 


 
Sight of 5 or 3, not in incorrect statement or working 
FT ‘their stated across and down’  
CAO 


 7. Alternative method 
(Area rectangle A=2×4=) 8 (cm2) OR 
(Area rectangle B=6×20=) 120 (cm2)  
 
(No. of rectangle A=) 120 ÷ 8               
                                                 15                        
                       


 
 


B1 
 


M1 
A1 


 


 
 
Sight of 8 or 120, not in incorrect statement or 
working 
FT ‘their stated areas’  
CAO 
 


Organisation and Communication OC1 For OC1, candidates will be expected to: 
• present their response in a structured way 
• explain to the reader what they are doing at 


each step of their response 
• lay out their explanation and working in a way 


that is clear and logical  
• write a conclusion that draws together their 


results and explains what their answer means            
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13.       –6n + 21 or equivalent B2 B1 for sight of -6n. 


If no marks, award SC1 for 6n + 21. 
 


14. (a)    0·4 shown on ‘A does not occur’ branch 


            Use of 0·6  ………… = 0·48 
                                                       P(B occurs) = 0·8 
 
 
Second set of branches 0·8, 0·2, 0·8, 0·2 


B1 
M1 
A1 


 
 


A1 


 
 
Allow M1A1 if 0·8 seen on one of the ‘B occurs’ 
branches. 
 
FT ‘their 0·8’ only if M1 awarded. 
(0·48, 0·52, 0·48, 0·52 is M0A0A0) 
 


14. (b) 0·4  0·2 
                              
                                      = 0·08    ISW 


M1 
 


A1 
 


FT ‘their 0·4’  ‘their 0·2’ provided both between 0 
and 1. 
 


 


15. (a) (CE = ) 8  15    or       8 ÷ 10            
                              10                    15    
                                                                                                                      
                                                             = 12 (cm)            
 


M1 
 
 


A1 


Or equivalent  
M1 for correct use of linear ratio. 
 
 


 


15.(b) 


 (AB = ) 10·5   10   or  10·5 ÷ 15    or equivalent 
                          15                   10 
                                                      
                                                               = 7 (cm)            


 
M1 


 
 


A1 


 
Or equivalent  
M1 for correct use of linear ratio. 
 
FT ‘their scale factor’ from (a) provided not 1. 
 


16.  
Method to eliminate one variable 
e.g. ‘equal coefficients AND appropriate intention to 
add or subtract’ or use a method of substitution 


First variable found  x = 4  or  y = 7. 
 
 
 
Substitute to find the 2nd variable. 
Second variable found. 


 
M1 


 
 


A1 
 
 
 


m1 
A1 


 
Allow one error in one term (not the term with equal 
coefficients).  
 
CAO.  
Award A0 for an answer that leads to a whole 
number, but not expressed as a whole number  


(e.g. y = 161/23 or x = 92/23) 


 
FT substitution of their ‘1st variable’ if M1 gained. 
If FT leads to a whole number answer, it must be 
shown as a whole number. Otherwise accept a 
fraction.  
 
If no marks gained, allow SC1 for both answers of  


x = 4  AND  y = 7. 
 


17. (a)                                                     7·2 × 106 cm3 


 
B1  


17. (b)               6 
 


B1  


18.                         0·2 
 


B2 If B2 not awarded, award B1 for one of the following: 


• sight of 150 000 or 


• sight of 3  104 or 


• 2  10-1 or 


• 
1


5
 or 


3


15
 (or equivalent fraction) 
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